MARKETING OF SERVICES

Paper : 602

Full Marks : 80

Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following as directed : 1x10=10
ot frareares et Sepifs Tee fi
(a) Service delivery is not a component of
service.

( Write True or False )
Tl 29I+ SO CRIF @61 SAME 7123 |
(W% @& wrm foran )

{b) The flower of service comprises eight
petals in all.

( Write True or False )
CTAA TR 9C© SICol6] 2R AT |
(w7 @ =g o)
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(2)

() What is the full form of CDV?
CDV-3 7 o1 & 2

(d) Give one example of product mix of the
Life Insurance Corporation of India.

sSy Egel T Forma o0 Fued qb TR
i

(e) Which one of the following countries
have not changed from being ‘goods
dominated’ to ‘service dominated’?

e c BT e o M S B LGS B ‘et
2yt AfREfES CarE iz

(i) United States of America

g SRR TG

(i) United Kingdom
LS JEA

(iii) Indonesia

(iv) Sweden
ez
( Choose the correct answer )

( y Teacht A Tferedn )
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(3)

(/) Which one of the following is not

included in non-verbal communication
skills? :

o »

W\?@c:;z{?t H-(ART @R FEOR
(i) Body language / =% =&

(i) Facial expression / J33 PSR

(ifi) Touch / =M

(iv) Telephonic talk / GG FURS]

( Choose the correct answer )

( um Taachr At Tferer )

(g) Every business exists to satisfy needs
and wants of the

( Fill in the blank from the following )
T S W SR AR PR
ST FOR TR IS AT |
( @oTe farigs =@ Qe 812 o %4 )

(i) lapsed customers

A AR R S
(ii) unknown customers

RG22
(i) target customers

=] M T AR
(iv) local customers
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(4)

(h) Write one category of foreign tourists
- who visit hotels.

QIHFTS 47T IF LRI [T 2R 1w v |

() The origin of the word ‘ourist’ dates
back to 1292 AD.

( Write True or False )

Tourist O TeAfE S3d3 H0® Cafe |
(o T =g forr )

() Write the full form of the term LIPS.
LIPS-¥ 3¢ Fofch1 forqy |

2. Write short answers to the following :
©eTS PR 5y T fore

(a) Describe two reasons for the growth of
the service sector.

| ORI %9 SgEa 700 SR 96T 397 1

(b) Write two distinctions between product
marketing and service marketing.

T TGRFIT HE ORI IGEFR TS 70!

(127 Tt |
(c) Explain two objectives of pricing.
o e 761 S e 340 |
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2x5=10

(S)

‘What is franchising?

o e T 2

f' iscuss two strategies for enhancing
'16eultomer participation.

: MWﬁﬁqiﬁW@WW
T

Discuss five characteristics of a service.
W4 oTar SioB s ScETe T |

Explain the concepts $ront office’ and
‘back office’ with examples.

- CER STy R W ‘opoie SROER
I 5T I o

What are the major benefits of electronic
channels for service companies?

TR s cwwmmh@ﬁﬁﬁa T4
ARz 3 & o

Discuss the stages involved in sales
promotion planning.

;ﬁ:ﬁaﬁqﬂ%@aﬁﬁwwm
E[CEDeT 9T
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(6) (7]

(e} What is banking service and who are its
~ users?

SN ERN e SR E R L e e

Or / %1

18 employee participation in service?
the factors that” infltierice ''‘the
pation of employees in service
unter. 4+6=10
5 o Sz A 2GR TR 260
PR SeEReS S CoREAEl SRR S

() Explain the factors leading to the
growth of health care services in India.

TRET FER TS (A CRPE ARfa®
29 ISR SHRRRTE 747 3 |

4. “Proper marketing of services contributes
substantially to the process of development.”
In the light of the statement, discuss the
significance of service marketing.
“CRR ST TEREe Smee afdmea e afRee
wfRe eI 17 G SRR TS RN @A

it is information search? Discuss the
of information sources. 4+6=10
[ WP T 0 ek SO [fen a9z

5o(1 294 |

FFG SMCETAT T |
: Or / 7I%3]
Or / #i&1

; @t is pre-purchase - and post-purchase
What are the challenges of intangibility? B  of customers? State  the
Discuss the challenges in Indian Service Bl tions of post-purchase behaviour.
Industry. 4+6=]1 6+4=10
SR SRR R es o S ol W R Pre aees svad e {52

SSTRIPIR SCEH 47 | forea b9 e Seay 4 |
5. Discuss the various steps involved in
developing a new service.
bl T crRE RerE e e Rfer weme
ST < |

scuss the characteristics of marketing of
ncial services. : 10

14 O TeRPRe CIREPTR SICsToeT 41 |
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( 8)

Or / 7z

Discuss in brief the marketing mix for
tourism services.

RGN IR T3 Rechl 5407 e <541 |

%* ok &
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